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YAULTID

A) Job security.
B) Good labour relations.
C) Challenging work.

D) Attractive wages and benefits.
AR 4 191 YA 1% 39 b 19 6 8 47 job security, labor relation, work il wages and benefits 7]
LRSS EE S AT TR RREA X,
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A) Many countries have not taken measures to create enough jobs.

B) Few countries know how to address the current economic crisis.

C) Few countries have realized the seriousness of the current crisis.

D) Many countries need support to improve their people’s livelihood.

R 4 01 W 32 391 Y 6 837 “ enough jobs”“economic crisis”“realized the seriousness of
the current crisis” fil “ people’s livelihood” o] 41, I s 4% X £ B 5 & B X 2 5F & HL 69 = M
K.

2, MAETSR,ENEE,

o &I LABHIE SR IT kL, MR 2R T AW E AMES, SRR T EA B H K
R,

o TR B 44 1) s B AE 43R, 0] BB K 22 2 IE A EAT M Sh AR SO AP TR AT

o BEIRAE X, A K% & H 9 R KIES

o %34 should\had better\would like 5 —2S ¥y ia] , [a] B Ak 2 2 56 F W S B,

e %I h A think\like\dislike\ enjoy\agree\ disagree\ mind\ reasonable\ wise\ absurd\
disgusting % — A , [A] I K £ 2 6 F RN 8URZ .

o BRI R & A T 25 1) 5% R 16) A4 bl R SRR i R s CH At R s AR 1918, ) B T BE B R A
Y 6 5 R A B4 B

o 5 I 147 Ay MR A A A R 1 4% TR PR, LA R T PN 2 2 R K () RELAR T BB R G T OCEE
FRSCE P AR,

A) Pay back their loans to the American government.

B) Provide loans to those in severe financial difficulty.

C) Contribute more to the goal of a wider recovery.

D) Speed up their recovery from the housing bubble.

T 60 36 300 8 2 LA 3 iR SR T FF 3k, [e] AR 7] R R B A .
Q. What does President Obama hope the banks will do?

A) To sell a particular product.
B) To build up their reputation.
C) To promote a specific service.
D) To attract high-end consumers.

1 0 1 AR R LAAS 1 ST 3k, AL RRAR AT BB 2 OC T H B9 RISF .

Q. What does the speaker say is the purpose of many organization using prestige

advertising?
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A (mann )

Question; What is the news report mainly about?

A) The International LLabour Organization’s key objective,

B) The basic social protection for the most vulnerable.

C) Rising unemployment worldwide.

D) Global economic recovery.

W A, HE 3|4 — /4] “The International Labour Organization says the number of
people without jobs is increasing. ”, i AMERE H C I,

(=) oAl X

HTEEE—-BREAERAMENOE -SRI L0, TEE - BB REE T
BA ) R A 5 — R

E B REEEF 6P 7 A T LR

e What is the news report/passage/dialogue/lecture mainly about?

e What is the best title for the passage?

e What does the speaker tell us?

e What are the two speakers talking about/discussing?

e What are the two speakers doing?

e What’s the topic of the passage?

7€ & B B A B0 6], IRV iR T 2 AR B9 SR 100 ] AR 25 , PR 0 384 hn 1 8808 #) X BE

# Cwmnes)

Question; What are big fast food chains in New York City required to do according to
the new rule?

A) Serve standardized food nationwide.

B) Put calorie information on the menu.

C) Increase protein content in the food.

D) Offer convenient food to customers.
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HEL AMESEERNZE RINARAEHES - HEEHRETRETE. YR 5ETTF
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RMTEHECLRARRT  FAEANT AN EERHELHEET. TEAMAES
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MER BRERILEREET S XEEE M BEAEREE B0 08 U] 800 & 1175 W 7% 247
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FHE DT R K 22 S 4 X 15 45 0 SO D B9 8 A T . R A A 0 O o B O AN KL W R TR
RIS A 9 BB AL . PR, A i i) T A R A B MBS B B e 4 e A
70 8ROk K H MERE .

W 7 %8 SCHE B 3K b 5 e 32 R A R A A [] 0 2 AR B R BT 6 3 9 1 B 1 250 ) T 42 L A9
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A o TS 11 B A B A G ) B R BB IURE Jy . M T o RO A L B A i 4,
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A B A (1% S HRY i) 3 A

Where does the conversation most likely occur?

Where are the speakers now?

What is the probable relationship between the speakers?

What is the man’s job?

What can be inferred from the conversation?

What does the man imply?

What does the woman mean?

What can be inferred from the passage?

What do we learn from the passage?

What does the man say about something?

i T8 AE 5 A 2 A 2 HE ER AR ) 10 (R B, o A X R 0 Y S TR AR B A IR A T
BRESIAEANT 2Z L. X s vl 2 B M AR, O R A KRR A — X
W EILA A —RIEMEREEASAMNE P EELA TEL L EXE R FR S K&
T B ¥ o — b s OC 0 WK 22 5 30, 0 7 2 M A L AR S5 BI02 A (T A R i 4
FMIEER. FEXE S, % A WOl sl 35 XU 5 R 8 8L 1Y £ e 100 2 Ry AH 6 1 44 17 3 4% 1)
A BIETRE S T e, (HR ISR A R A S B, R AR
XE R REE R

(=) MAHE 5
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ZRCFEAEAEWT SR b — 5 SR AR KR R E TR & . AR Afal ok & 212 Wnfal 7€
AW Z sk B H 7 CRAE T O HOER” i 0, 8 I 4P R.,
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(D) BRAM

FEWT 1 op , — 2 A R U A HY RRIE W WA R, A LU LA 0L -

S —Fh i OB & T iR JRE + 5 I AL SO 6 A L B8 A B to B9 3R A
58 A R IR RS AT 0 R L ar 2 S WS, AT BB & A W to M BhiA AR ER
KR T RBRNE .

# Comner)

A) Find out more about the five schools.
B) Send their children to a better private school.
C) Talk with their children about their decision.
D) Put Keith in a good boarding school.

M. Well, Enderby High is very good—and Carlton Abbey even better, 70% of their
pupils go on to university. Donwell isn’t so good. Only 8%. And Enderby Comprehensive
in Saint Mary's not much more, about 10%.

W . Well, it seems like there is a broad selection of schools. But we have to find out
more than statistics before we can decide.

Q: What are the speakers going to do next?

fE 2014 4 6 A —EHEE R KX, 5 W8 0 £ 0 “3hiF R E + =R
X BRI BT ER ML BUEF, WEX -HWGEB T MEH“a
broad selection of schools” fil“have to find out more than statistics before we can decide” X
P A {5 BT, BB HE BTt A< 8% A A7 R, Al B iC R C 8 1A “a broad selection of” f1*find out”,
AHEE L EFRERND A).

B E SRR EIE LB ing” BRIk METREEE P E -RBEGFR B
] RE % A EAE AT A SR B S AT AR S .

A) Reading newspapers. B) Chatting with friends.
C) Listening to the daily news. D) Planning the day’s work.

M: Ah, that’s a good question. In the morning, I just sit in comfort and read the
papers to catch up with the news. On the way home at night, I relax with a good book or

chat with friends or even have a game of bridge.

Q: How does the man spend his time on the morning train?

P9 & T LL“ B i8] ing” JE X JF k. I ESCAT R, M BB B BA(E B EEHITHB)
VEIRE Y ATRAE ., HHEX —FIEBWRT, 183 “read the papers to catch up with the
news” #l“chat with friends” X B 45 B B, MK H 5 A) (B A0 ff—Be A8, R RHE R T



Al # & 4 7F morning, J5 & KA 7E night, XFE, 4 R 7E )8 H BLEHEE TG B 5190 %
N2 VCEZRp AT,
55 = FhRE O R A e T S shial AS e U E - R AR v BB S5 AT L H B9 BRI SR A OC .

£ Crane)

A) To look for a job as a salesperson.

B) To have a talk with Miss Thompson.

C) To place an order for some products.

D) To complain about a faulty appliance.

W . Sales Department, Can I help you?

M: Oh, yes, I hope so. My name is Kings Bruce of GPF Ltd. We need some supplies

for our design o!lice.

Q: What is the man’s purpose in making the telephone call?

VYA 25 3 I8 SR shiRl A s A I ESCRT R, AT RE B A AT N | B AR A 45, W B AT
HRAREXNEFREHASHMENER. LG E L L@ “Can I help you?” i, i B iR F
BHEAfESEH ESBEMEK., B MG “We need some supplies for our design
office. ™ IF & ¥F BT 12 81 1. 227 58 B MK 48 .

5 DY Fp 4 B0 R & EE T i1 “By” 51 )« [AE AT BB A MOE F R k.

S5 TR0 0 R £ R 01 3 Ok 4% 18) 5 44 1RO - R RS T RE B A R P I B R — BAE R .
R 2R B 2 R A SRR T REE A XS R ER .

#Comnns)

A) Declining health. B) Lack of attention.

C) Loss of motivation. D) Improper behavior.

... yet they rated the students who had received eight hours or less as having the most
trouble recalling all the material, learning new lessons and completing high-quality work.
Teachers also reported that these students had more difficulty paying attention.

Q: According to the experiment, what problem can insufficient sleep cause in students?

2006 4F 12 A 00 %% FRREE — 5 48 SCWT 1 vh , 55 A D9 A 48 8 10T 1) O 44 1R i T B 3
Bik , 7T R 2 0 o i B S — BR(E R . Bl AN T Y b Y SC5A , W o B ROR T
BEXPREHAGZHRHEER . VB 2 4055, M B MER AR IA
OIS H RFA R Z IR FBOEE AL PR RE, EEHR B,

SB /SRR B R A% BT 24 R A 3R]+ M 5 4% 9] - 1) /T BB ) [ X b R B A9 Ok T 3 AR Y
FLKRAE B, AT B8 9] [a) X 35 A A= 706 B,

55 -1 A B0 2 4% BRI X S 2R 7 B (8] 4 48] - ] & T 6B i) ) 52 35 & AR B9 ] .

(2) ANYSHEY

—H B ET LTI, AN E E S AR —FY,; —AF/ETY LU They” JF k. i
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A T T BB OA RS A AT RE R R () H YY),
(3) BB«
—H FEI LA He,She, The man #{# The woman JF 3k, i FERER LR L+,
(4) $AH A
2 — 21 25 B TP 0 P S e TR AL L ] OB X IR iR N AR R W R AR T RE R
H—,

7 Crane)

A) It is used by more people than English.

B) It is more difficult to learn than English.

C) It will be as commonly used as English.

D) It will eventually become a world language.

W:Hi Leo, why do you say English would become the world language?

M:Well. For one thing, it's so commonly used, the only language that is used by

more people is Chinese.

Q: What does the man say about Chinese?

1€ 2015 4F 12 A5 —E % BB — R b, 58 — B U ZE I A F OB
ANEIIE L. 437 3] 8“1t is used by more people than English” #1“It will be as commonly
used as English”, 85 X Py 5 » G FCHEHE W 8 A< B8 2% 25 (4 n] BB 2 5 Al 5 M s
A AR R AT H B, AE W & B B A G HE M R (B BB AT . B8+ Br it A9 “it’s so commonly
used, the only language that is used by more people is Chinese. ” IF & ¥ iZ B E AR M
et

(5) A

2 A 3 I A 1B T 3 B A S BSOS Sz B T LUK X W IR A A R W LA
KAREAH—.

A) Participate in group discussions, B) Take turns to make presentations.

C) Listen to the teacher’s explanation. D) Answer the teacher’s questions.

W: Yes, we do. And in the first part of the lesson, the first half hour, the man who

runs the class will go through some particular part of the car, and we’ll learn about it. ..
Q: What do the people who attend the class do in the first part of the lesson?

C) L3588 “ Wy 7, D) e T 38 e “ 58, PO 3 18 SR 57, B RN T REAE X P I b . SR4R L %
T R L T TR B RIS 80 U 2 0 PR AT DR L A AT DT BRI AE ) . OO JETRIEH .
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B T R T, 5 A B AT R A A PR AR T . AR, AE BRI T ) 8 b, R
7 R E LA T 4095 -

() BRXREXE

RAFEYT R 5 00 7% 18] 0] R AR R W 8 E R, BN BB E B R B ™
A HSIHRAEZ AR EE S ER MO, 2 R K% 5 but, however,
because,since,unless fil if %,
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BEAR BT i BT R KM%, mA AN EANAET ARATEES . —BEIZ
HF; REAME”, ZHZE BEEBL FEEAHEANESR, L8 SRR, NE
BEFEABEEE ., “EXEE"RIEEERHED +aF 1, B G —a4 2XHE
ROTEMFRE . A TR IE 50 09 HENT .

3. Y BT, B m &R

FEWT S IF IR 0T, FE 40 A I 0T S AR AL . W)Y E 5010, HE W 5] & A4
BRKE, B &S RRE B BEE.

(D) AWK . — W EXTERELEH 3~4 A0S, 84 RS & A N & E, frig
B O 1o 0 YT R R SR A AE T AU E R 12~ 16 AT, R B 5 B e | i, Bl
FIE SR RN E .

(2) B KBS AT R AR TU 2Z J5 , 430 45 ] 8 A G A 45 16771,

M. AT SHZ 8

VTR AR G R R, — Ok, 8 B i 2 a) B, W R S
BN X REE X .

AT, 2 EEAMTAIER R S FEEAY S LTS, &6 R E
—fi%& 4 : wh-question JE R, ,

2R R B SR 2 A Wy B S rp Y B (] B0 B — A U, KR U e EEE R
¥ 18] (40 : because.so.due to Z¢) f¥E 47 % i) (41 but,however,though Z) 5| K8+, H K
X R A

TRZ 2 EFEWT 40T i A R X, BUR SE 15 BT A 40719 #% T BB, BT LA 7 Wir 9 e 5C 1 4 4
TREZ,UETEABKR, HE, FEAEGXEE - LEEHN JFEmmES . T, ¥
BRI EEA Y+ EE., B4, Wred E A EW R W FJLA T EES R
R

(—) &4 4

X FXE PG EEFRE , e B2 gl 7 i BIARE B FRERS. £03)
245 B I B B SC T 2 B Y BT 3, BRIE AR A A B XA, AR A 4, R 24 W
R SE EAOTFASRTHENE.

0T YA 2 ) 40 15, A2 W RS B 4B A R W AR AR 2 ) A G B A] , B 4 : For example,

like.for instance.in this case.in another case.take the case of ,on this occasion . I %|X
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A S TR 30 T2 O B T R R AR ), R ARSI OREE T

(=) 2L &

W 7 2% R v 22 2t BN B — R A e O R — 1) B AR RE . AR AR T S SN G B 1]
A it refers to.that is,that means, which means, this is to say.in other words.in another
words %,

(Z) ARX AL

HEXREWHEHEEZEENNE ., EVEEASH st 2Rl 4 —~RR. BE
B ER M FE T XA W : so.therefore,consequently.as a consequence,for this
purpose,result in,lead to Z/RATH G HE . i result from,stem from,originate from,spring
from,arise out of M FRATRJFH .

(W) R

GRARSHEE, U~ EEEE., UANTRERHE R A6, HER -ENFER
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MBI ER, RRMEMIAFEIAE  like, similar, resemblance, to resemble,
similarity, FnRA XA :in contrast with, whereas,on the contrary,different from,
on the other hand 4.
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A) Teaching mathematics at a school. B) Doing research in an institute.

C) Studying for a college degree. D) Working in a hi-tech company.

AHE R 2013 4 6 H B KB DLW 55 30 B, B H W2 ing 4318 49 B iR 415 .
P O BT LA HE 0 T BB ) B FRA TSR E ¥ I HANATNER.

%55 5 5 o . What was Matty Sallin doing when he created an alarm clock? &—/~&
P EBRNEE., BRX{EEN: “When Matty Sallin was working on a degree in art and



technology at university, he got an interesting assignment in the electronics class: Create
something for the household. He decided to create an alarm clock. ” , i 8K 2 2 5ift /& i [B] IR
HHHER.

AT EFRVEBRTN ERINTEELAZII ETEEWOTILAH@E:

(1) 4075 80 5 UR 3 T A9 e i

AR RS IR TUE A LU U RRE . B R AR VEIEFT R M R, B4R I
I b BT R SCRA B A B A X 2k 0 R EAEE B O A B R iC SN E A
() &, R BT , 248 R SO A 40T, (H R X AN A X A R E & R . XX T
W R ECiCA A B, 0 SR M R R AT LU X . fi R AT, 48 SRR SO iR B
B ERMRAAERSRAT R LML A T KRB, X T EOFE N
2015 W R R TR R .

(2) ARZH 5 ) ok 2%

WNRE B FR KA TS IR ERT . HEEAHRWH THNTHHENE, ETEN
WA A BA B, OB F A C W B A 5] K 77 2 70 b gt R I3 B 7 5 LY I8 R R
Mo T, LA R BB T M B A T FaBE . AR E 3K R A BRI TR, th B T 3P A iR
A, A5 RBHE, LB BPX TGO AR —E B R AT S TR TS Bk

(3) ER R XL

0t B S5 18] A 36 IO A R B VR TUAH I T 0 T A O B 1) AR T BB R 2 JRR] L X R s B
THEME X R, BEERFERRLEE WK, ASHERKKMERE,BRTEEEAEM
x4t B (8] P BB 5 VR 31 R 3 R SR A V- e AOREE A B T M T (R SRR S AR FE I N L R B
— R X 2eia]

(4) 4045 RE Y [7) %
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